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Topic:- Child Development & Pedagogy (CDP)

1) which of the following is not a level of mental retardation? / frafafaa A B aAle Hedl BT W1 qﬁ %?
1. Profound / o1&

2. Severe / ITHR

3. Savant / ﬁ'c'@?r

4.Mild / "=

Correct Answer :-

« Savant / fagart

2) which of the following is least true about the process of growth? / fafafaad a -1 q@ &1 UfhaT & IR A 990 FH I %?
1. It represents change in a person’s quantifiable characteristics. / g i B! AETHD [ARdret & gRad-T & m‘k‘f DAl %l
2. It is necessary for aspects of development. / g faerg & q&‘ﬁ & 1%‘1? icreca %I

3. It can only be assessed. / SHeRT hdol TTeholeT TohAT ST Hehdll |

4. It is not a continuous process. /ngmmﬂﬁgl

Correct Answer :-

« It can only be assessed. /WWWWWW%I

3) The system of society wherein primary power, moral authority, social privilege and control of property are dominated by males is known as
1. Masculinity/w

2. Patrilineal /ﬁ?ﬁ%ﬁ'ﬂ'

3. Patriarchy / ﬁ?ﬁlﬁ

4. Matriarchy / #ATc[HcdT

Correct Answer :-

« Patriarchy / ﬁ?{l_w

4) vocational guidance primarily helps students to: / HGHTRS mﬁ qe1 =q A ol &l e A HGG hdl %:
1. Choose a life partner/ Teh Sitdel ATl & Il

2. Choose an occupation/ Ueh 9T & TIeT

3. Solve a personal problem/ Ueh SATFAINT THEIT & FHTT H

4. Select subjects/ﬁ'q?ﬁ FT TIT FA H

Correct Answer :-

« Choose an occupation/ Teh 9 F TIT H

5) When twins are born from separate zygotes, they are called: / 9I& G_iFHT T AAM-3eTT T’Jﬁ (leﬂ'lﬁg'ﬂ') ¥ e}ET 31?’ %,?-ﬁ 3?3’ gl SITdT

&
1. Identical twins / 3TS3feder g
2. Siblings / Rafeied®

3. Spouses/Fqu'l?)'H



4. Fraternal twins / theeTol Cdled

Correct Answer :-

« Fraternal twins / ShceTol m

6) When a teacher finds diversity in the classroom, it is better that s/he/ ST T et Fam # QAfATEr gar %, al 9% Sg R % it dg.
1. Divides the class into small groups/ F&TT HT BIC 'H?ﬂ\?f # fasnoa 3

2. Categorizes the pupils according to diversity/ fafaerar & TR ﬁ@ﬁ‘l’q}f Hr Eﬁﬁ?{ FI

3. Combines all of them together/ 3oT THT I Teh TTT FaT o)

4. Sends the pupils from diverse groups out of the class/ [CIEiCT] FD:IC\%T * ﬁa}‘l’lﬁflﬁf FI F&T T T A

Correct Answer :-

« Combines all of them together/ T T I T AT e of|

7) A learning style of the students of every age are affected by their /
W 34 & onEl i & e df 39F ganrr yanfaa gl &1

1. All the above / 3udeFa Heft
2. Environment only/?}ﬁlﬁ ardraor
3. Emotions only / CCRRNCRIE

4. Sociological needs only / Had THISIRIRAN ATIIHATHT

Correct Answer :-

+ Allthe above / 3uded @y

8) An Individualized Education Plan (IEP) is: / U cafFdard et Asiar (3msddh) &:

1. A plan created for every student in a classroom/ Teh &l H Tcddh ©F & folT FATS IS AT

2. A subsection of the No Child Left Behind—Act/Tﬁ'é o gTar I Q’E—&Iﬁjﬁ'ﬂﬂ $r TH STURT

3. A contract that must be followed as specified/ Ueh 3-17133 S Afése ®7 & gree R ser afgu)
4. An outline for the general education teacher/ AT fA&T g1 & fov v T

Correct Answer :-

« A contract that must be followed as specified/ Teh 3-1@3?-1' Sraer Afése &9 & greer Far s ariRoy
9) Which of the following is a socialization agency? / R#afaf@d A ¥ FlT vH FASHHIOT T §?
1. All of the above / U Her

2. Society only / %ad TE (TfAf)

3. School only / Had Tpd

4. Family only / %ad uRaR

Correct Answer :-

« All of the above/3qli$(-r Tsir

10) Which genetic disorder is found only in females? / &¥sT T 311733@75 Q&R Faa Afgemst & g Smar &2
1. Phenylketonuria / ﬁﬂ@lﬁﬂ'ﬁ'ﬂ

2. Turner Syndrome / &oiX f&ZH

3. Down Syndrome / 313 &g

4. Klinefelter Syndrome / FellssTheel AT

Correct Answer :-

« Turner Syndrome / &R &g



11) To make socialization successful, it is necessary for parents to establish as early as possible in the infant’s life. / HATSHIOT HY
o A & o, Aa-Rar & e ag sravaw ¥ 3 Ry & Siae # F STeg ¥ STeg TN &I

1. Rules / ToaAT

2. Routine / Tt

3. Rapport / dTerdel

4. Restrictions / Ifcereit

Correct Answer :-

« Routine / fee=a

12) What animal was used in Watson’s experiment of classical conditioning? / afcHa & FaATRAST Hearufaer (RRyfAsa AT elet) F gIer
# B IEaR F 39Aer T g

1. Cat/ foeelr
2. Pigeon / e
3. Dog / T
4. Rabbit / @

Correct Answer :-

« Rabbit / T

13) Children who come from homes with unfavorable parent- child relationships tend to be ./ e o & Ara-Rar i st 1 ey

T A g A =y @ d

1. Less impulsive / raefr

2. Good at intellectual control / 3TT&> Eﬁa‘ﬁih' fa=FoT grer
3. Successful in social participation / JHIS HFfieRt & THd
4, Intolerant of others / GERI & Ufdl W]

Correct Answer :-

« Intolerant of others / GURI & Ufdl 3rgw]

14) Learner-centered education includes: / fRvareff-Ffga Rrew & A« &
1. Year-end appraisal / a§ & 3d & H;FQTW

2. Control over learning process / 38R Ufshar o fAZ=or

3. Control by the study program / 3T&JJdeT FTIHA CanT IGEEL

4. Disciplinary force / 3Te]RITHeT el

Correct Answer :-

« Control over learning process / 31T UfohaT WX foz=oT

15) Learning swimming or riding a horseis _____ learning. / GRICIE 23“1’& srafOeA__ fer Aar
1. Motor / #TeX

2. Associate / FfFAfIT (TAfATR)

3. Serial / faA® (HIRZT)

4. Problem / §HET

Correct Answer :-

. Motor / AT



16) A baby appears surprised every time her mother covers her eyes and then uncovers them. What Piagetian cognitive concept has the baby not yet

understood that makes this game so exciting? /sttmémam%a?mﬁﬁmmwﬁﬁ%aﬁ?ﬁwﬁmﬁ
2 P Reifeas SAEcA® TR & goar s aF GHST A¢ U § Y 3§ @A P SdAT AATF AT §2

1. Conservation / TX&TOT

2. Seriation / ShASCHT

3. Object permanence / ] Fuififca
4. Animism / Sfiadrg

Correct Answer :-

+ Object permanence / a¥¢ Fuifi¥ca
17) What is the study of the smallest units of speech known as? / $IT9OT (Tdier) #T FaA DI SHBAT & ICTAT FY FAT Fgl AT &2
1. Morphology / 3-1'@% ICEIC

2. Morphemes / &

3. Phonemes / Fafeam

4. Phonology / tafer =it

Correct Answer :-

« Phonology / eafe fa=mmeT

18) Which of the following is not a type of intelligence described by Sternberg? / fAFafai@d H A FleT AT TeAT SanrT giofa Th YR iﬁ'\ﬁl’ gt
14

1. Logical-mathematical element / dTfeheh-aTfOINT dcd
2. Experiential element / eJHdsled ded

3. Componential element / TC& ded

4, Contextual element / TeffT Tca

Correct Answer :-

« Logical-mathematical element / dTfeheh-3TTOTT ded

19) The earliest manifestation of inner speech in Vygotsky’s view is .] TIFIeER & AR 7 WaRs smyor A ged ggel
sffeafFa &l

1. private thought/ fasi faaR

2. private speech/ feSir #T9OT

3. social speech/ ATHATIGIR HTYOT

4. personal speech/ SfFHTT HTHUT

Correct Answer :-

« private speech/ TSl styoT

20) Which of the following is not a social motive that drives behavior? / AFAfaf@d & ¥ Fla-ur e gEnaF fARF a8 2 S ewaEr
T T HIAT 72

1. Achievement / 39cIfed
2. Power / T

3. Intelligence/ gaﬁ'

4. Affiliation / HFeeteT

Correct Answer :-

« Intelligence/ gaﬁ

21) Which American psychologist developed psychological connectionism — the belief that connections are formed between perceived stimuli

and emitted responses? / fF® 3ANE AAdTIAF & AadTIAF atae RAFERT 7T - I8 R § & @9y, FR¥T 3o« ik



Scaford yfafkant & &g aaa
1. Jean Piaget / Sl sy

2. Francis Galton / $hfohd IreceT

3. Edward Thorndike / VS8 ATISISh
4. Charles Spearman / e TIRRAF

Correct Answer :-

« Edward Thorndike / USGS UT1S5H

22) From Big five personality dimensions, behaviors such as speaking fluently, displaying ambition and exhibiting a high degree of intelligence
is ./ 93 dfT =afFaca IAAT F, URIVETE Siea, AgcaTHiaT el #a AR 3T FTaX T e F1 g A F1 qawR
.l

1. Extraversion / Eﬂ%ﬁ'@?—ﬂ

2. Openness / TISCIfF (3TeTa1d)
3. Conscientiousness/ FcicT eSS

4. Neuroticism / naﬁ%agew

Correct Answer :-

« Conscientiousness/ FccT ST

23) Attribution theory is a theory proposed by: / oMRIYoT Rigtia (vdegere LaY) & g garr sfauifed frar
1. Jean William Fritz Piaget / SiieT faferaer freer f=mer

2. Bernard Weiner / 818 faeix

3. B.F. Skinner / 1. T%. f&weR

4. Abraham Maslow / 3TTgH HTEAT

Correct Answer :-

« Bernard Weiner / 8178 fasi¥

24) According the Vygotsky, the following are transmitted from generation to generation, except i T:IETﬂT\"W& *® YR,

P! Biga: FHafafad fid 3 i 9@ saaRa s € |
1. Beliefs / &TROTT

2. Values / qe

3. Ignorance / 3Tl

4. Traditions / TRFERTT

Correct Answer :-

« Ignorance / 37Tl

25) Fraternal twins are born of from __. / YIq-gHS (M‘vfﬁ ﬁ’f’x‘l) a1 g gl
1. No ovum / Dl f&F eI

2. one ovum / Teh 3-131'0;[

3. two ova /ar 3-1?='I'U;I'

4. one sperm / Ueh [hIV]

Correct Answer :-

. twoova/a‘flﬁgl'ul

26) What concept denotes the belief that one can effectively produce desired outcomes in a particular area? / Fl @ rguRon W Qg N ARG FI § A
Fi§ A &7 #§ qifda aRome wiea T Fwar §72



1. Self-efficacy / ¥a-FHTGRIRAT
2. Self-knowledge / 3TcH-21TeT
3. Self-esteem / 3TcH-HFHTT
4. Self-conception / TI-THehedelT

Correct Answer :-

« Self-efficacy / FI-THTGHRIRAT

27) Brainstorming as a technique helps to improve in the learning process. / T Tdhelldh & ® & AUR Fya (@ TifHT) ¥ A A gfhar &
F g TN F Acg Ao ¥

1. Skills / @terer

2. Language / &TST

3. Creativity / TdeIlcdhdT

4. Critical Thinking / 3Tgel Rider
Correct Answer :-

e Creativity / {delTcahdr

28) Play way method of teaching has been emphasised in the scheme of the education of : / fRi&or ¥t @« fafy

R IR 21

1. Naturalists / ‘Tﬁfﬁﬁ'l’ff

2. Realists / T2TaTEr

3. Existentialists / 3ff&@ard!
4. Pragmatists / W

Correct Answer :-

 Naturalists / ‘;I'fﬁﬂ'la

29) The least effective method to attract students’ interest and attention is: / BEl &1 ¥ 3R A refid we & ﬁl’q I HH YT
T B:

1. Lecture method/ earearT afer

2. Role play method / S@W ety fafer
3. Discussion method / TaT f3f&r

4. Game method / @er fafer

Correct Answer :-

« Lecture method/ SaT&aT fafer

30) peemphasizing rote learning is a part of: / STHBATSIAT ey URRTH =T &1 Te R &
1. Special needs education / oy srawues fRren

2. Learner-centred education / TRI&TTY (e=1X) Shfga fRrem

3. Progressive education /Wﬁ%ﬂﬂ fre

4. Interactive education / 9T fA&IT

Correct Answer :-

« Progressive education /WIﬁ'Qﬁﬂ'ﬁT?ﬂT

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the questions that follows:



Have you ever wondered what happens to artefacts before they head to the showcase? Check out a melding of humankind
and machines to conserve the past. Who says you can’t look cool while giving a piece of history a longer lease of life?
Museum and gallery visitors gaze at artefacts and rarely see work that goes on backstage. It's a world where people and
science come together to immortalise tangible heritage. Such institutes have deployed a range of air purifiers,
dehumidifiers, light intensity monitors, data-loggers and other high-tech equipment, stabilising the environment and
protecting artefacts through three types of heritage conservation: restorative, curative and preventative, depending on
the state of the artefacts on arrival and the environment of the museums.

Who are involved in preservation of the past?
1. Anthropologist

2. Men and machines

3. The archaeologists

4. The historians

Correct Answer :-

« Men and machines

2) Fill in the blank with the correct option in the given sentence:
If he helps others, he always expects them to be recipro--.

1. -cal

2. -city

3.-en

4. -ment

Correct Answer :-
e -cal

3) Read the following passage carefully and answer the questions that follows:

Have you ever wondered what happens to artefacts before they head to the showcase? Check out a melding of humankind and machines to conserve
the past. Who says you can’t look cool while giving a piece of history a longer lease of life? Museum and gallery visitors gaze at artefacts and rarely
see work that goes on backstage. It's a world where people and science come together to immortalise tangible heritage. Such institutes have
deployed a range of air purifiers, dehumidifiers, light intensity monitors, data-loggers and other high-tech equipment, stabilising the environment and
protecting artefacts through three types of heritage conservation: restorative, curative and preventative, depending on the state of the artefacts on
arrival and the environment of the museums.

How are artefacts preserved?

1. Using the latest methods

2. Using three types of heritage conservation
3. Using age old techniques

4. Using a range of measures

Correct Answer :-

« Using three types of heritage conservation

4) Read the following passage carefully and answer the questions that follows:

Have you ever wondered what happens to artefacts before they head to the showcase? Check out a melding of humankind and machines to conserve
the past. Who says you can’t look cool while giving a piece of history a longer lease of life? Museum and gallery visitors gaze at artefacts and rarely
see work that goes on backstage. It's a world where people and science come together to immortalise tangible heritage. Such institutes have
deployed a range of air purifiers, dehumidifiers, light intensity monitors, data-loggers and other high-tech equipment, stabilising the environment and
protecting artefacts through three types of heritage conservation: restorative, curative and preventative, depending on the state of the artefacts on
arrival and the environment of the museums.

What is the passage about?

1. Conservation of resources



2. Conservation of environment
3. Conservation of artefacts

4. Conservation of life

Correct Answer :-

« Conservation of artefacts

5) Read the following passage carefully and answer the questions that follows:

The wave of globalisation indeed ushered exchange of ideas, cultures and commodities but its magnificence to a great extent washed away the
footprints of heritage that have long preserved us as a community. Owing to the waning interest in art and heritage of India, Dr. Sudha
Gopalakrishnan and the Sahapedia team took the lead in guiding India a step closer to its ‘self’.Dr. Sudha Gopalakrishnan, Founder and Executive
Director, Sahapedia maintains, "One of India’s key strengths lies in its myriad and diverse culture that has helped it find a unique position on the
world map. There are, for instance, 36 World Heritage Sites recognised by UNESCO in India. It was the need to celebrate this vast cultural heritage
and make it accessible to everyone that led to the inception of India Heritage Walk Festival Expanding its presence from 25 to 37 cities including
Delhi, Mumbai, Varanasi, Puducherry, Chennai to name a few, over 87 heritage walks and 100 outreach events have been planned to explore, unravel
and celebrate the historically significant monuments and markets, natural landscapes and rich local art and cuisines.

How can we rediscover our cultural heritage?
1. By giving wide publicity

2. By organising lectures on them

3. By organising walks to heritage sites

4. By conducting excursions to them

Correct Answer :-

« By organising walks to heritage sites

6) Read the following passage carefully and answer the questions that follows:

The wave of globalisation indeed ushered exchange of ideas, cultures and commodities but its magnificence to a great extent washed away the
footprints of heritage that have long preserved us as a community. Owing to the waning interest in art and heritage of India, Dr. Sudha
Gopalakrishnan and the Sahapedia team took the lead in guiding India a step closer to its ‘self’.

Dr. Sudha Gopalakrishnan, Founder and Executive Director, Sahapedia maintains, “One of India’s key strengths lies in its myriad and diverse culture
that has helped it find a unique position on the world map. There are, for instance, 36 World Heritage Sites recognised by UNESCO in India. It was the
need to celebrate this vast cultural heritage and make it accessible to everyone that led to the inception of India Heritage Walk Festival Expanding its
presence from 25 to 37 cities including Delhi, Mumbai, Varanasi, Puducherry, Chennai to name a few, over 87 heritage walks and 100 outreach events
have been planned to explore, unravel and celebrate the historically significant monuments and markets, natural landscapes and rich local art and
cuisines.

What is India’s strength?
1. Its |.T. power

2. Its cultural diversity

3. Its industrial power

4. Its military power

Correct Answer :-

« Its cultural diversity

7) Read the following passage carefully and answer the questions that follows:

The wave of globalisation indeed ushered exchange of ideas, cultures and commodities but its magnificence to a great extent washed away the
footprints of heritage that have long preserved us as a community. Owing to the waning interest in art and heritage of India, Dr. Sudha
Gopalakrishnan and the Sahapedia team took the lead in guiding India a step closer to its ‘self’. Dr. Sudha Gopalakrishnan, Founder and Executive
Director, Sahapedia maintains, "One of India’s key strengths lies in its myriad and diverse culture that has helped it find a unique position on the
world map. There are, for instance, 36 World Heritage Sites recognised by UNESCO in India. It was the need to celebrate this vast cultural heritage
and make it accessible to everyone that led to the inception of India Heritage Walk Festival Expanding its presence from 25 to 37 cities including
Delhi, Mumbai, Varanasi, Puducherry, Chennai to name a few, over 87 heritage walks and 100 outreach events have been planned to explore, unravel
and celebrate the historically significant monuments and markets, natural landscapes and rich local art and cuisines.

What is the impact of globalisation on our heritage?



1. It was responsible for disappearance of our heritage.
2. It brought new commodities.
3. It ushered new ideas.

4. It introduced new cultures.

Correct Answer :-

« It was responsible for disappearance of our heritage.

8) Read the following passage carefully and answer the questions that follows:

The wave of globalisation indeed ushered exchange of ideas, cultures and commodities but its magnificence to a great extent washed away the
footprints of heritage that have long preserved us as a community. Owing to the waning interest in art and heritage of India, Dr. Sudha
Gopalakrishnan and the Sahapedia team took the lead in guiding India a step closer to its ‘self’. Dr. Sudha Gopalakrishnan, Founder and Executive
Director, Sahapedia maintains, "One of India’s key strengths lies in its myriad and diverse culture that has helped it find a unique position on the
world map. There are, for instance, 36 World Heritage Sites recognised by UNESCO in India. It was the need to celebrate this vast cultural heritage
and make it accessible to everyone that led to the inception of India Heritage Walk Festival Expanding its presence from 25 to 37 cities including
Delhi, Mumbai, Varanasi, Puducherry, Chennai to name a few, over 87 heritage walks and 100 outreach events have been planned to explore, unravel
and celebrate the historically significant monuments and markets, natural landscapes and rich local art and cuisines.

What is the passage about?
1. Our culture

2. UNESCO

3. Heritage Sites

4. Heritage Walks

Correct Answer :-

« Heritage Walks

9) Read the following passage carefully and answer the questions that follow:

Have you ever wondered what happens to artefacts before they head to the showcase? Check out a melding of humankind and machines to conserve
the past. Who says you can’t look cool while giving a piece of history a longer lease of life? Museum and gallery visitors gaze at artefacts and rarely
see work that goes on backstage. It's a world where people and science come together to immortalise tangible heritage. Such institutes have
deployed a range of air purifiers, dehumidifiers, light intensity monitors, data-loggers and other high-tech equipment, stabilising the environment and
protecting artefacts through three types of heritage conservation: restorative, curative and preventative, depending on the state of the artefacts on
arrival and the environment of the museums.

Explain “immortalise tangible heritage”?
1. Keep alive material heritage

2. Leave alone heritage materials

3. Keep the heritage

4. Take care of material

Correct Answer :-
« Keep alive material heritage

10) Which of the following options best combines the following sentences?

It rained. They played.

1. Although it rained, they played.
2. They played and it rained.

3. It rained and so they played.

4. It rained that they played.

Correct Answer :-

« Although it rained, they played.



11) Read the sentence carefully and choose the option that has an error in it:

Economics are a very easy subject to study.
1. avery easy

2. are

3. Economics

4. subject to study.

Correct Answer :-

12) Fill in the blanks with the correct Prefix for the given sentence:

Raju was very rude to his colleague and it was --appropriate to behave so.
1. un--

2. mis--

3. dis--

4. in--

Correct Answer :-

13) Choose the option that substitutes the given phrases appropriately.
One who makes a scientific study of human antiquities

1. Antiquates

2. Aristocrat

3. Archaic

4. Archaeologist

Correct Answer :-

e Archaeologist

14) Rewrite the following changing the active sent to passive.

Will you keep my secrets?

1. Will my secrets keep by you?

2. Will my secrets be kept by you?
3. Would you keep my secrets?

4. Would my secrets by you be kept?

Correct Answer :-
o Will my secrets be kept by you?

15) Choose the right tag:

Thieves and murderers deserve severe punishment, ?
1.isn't it

2.is it

3. do they

4. don't they

Correct Answer :-

« don't they



16) Choose the appropriate antonym for the highlighted word in the given sentence.
He played basketball so vigorously that his coach was impressed with him.

1. disagreeably

2. angrily

3. lethargically

4. healthily

Correct Answer :-
o lethargically

17) Choose the appropriate prepositions for the given sentence:

The cat jumped ______ the open window, landed ___ the grass outside and ran ___ a tree.
1. across... into... for

2. for... on... up

3. into... for... by

4. through... on... up

Correct Answer :-
« through... on... up

18) Choose the appropriate synonym for the highlighted word in the given sentence.

I implore you to show leniency towards the defendant.
1. beg

2. assure

3. command

4. expect

Correct Answer :-

19) Choose the appropriate determiner for the given sentence:

____children experience morning sickness because of not having breakfast before going to school.
1. Few

2. Much

3. Many

4. Any

Correct Answer :-

20) Choose the appropriate conjunction for the given sentence.

Come early tomorrow we can decorate the hall before the guests come.
1. so that

2.if

3. although

4. until

Correct Answer :-



e so that

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

They were interviewing her for the job.
1. She has been interviewing for the job.

2. She was interviewed for the job.

3. She will have been interviewed for the job.

4. She was being interviewed for the job.

Correct Answer :-
« She was being interviewed for the job.

22) Choose the appropriate option that rewrites the given sentence in its indirect speech.

Mohan says to Ria, I have finished my work.”
1. Mohan asks Ria if he had finished his work.

2. Mohan tells Ria that he has finished my work.

3. Mohan tells Ria that he has finished his work.

4. Mohan tells to Ria he had finished his work.
Correct Answer :-

¢ Mohan tells Ria that he has finished his work.

23) Choose the appropriate tenses to fill in the blanks in the given sentence:

There water on the floor, so careful while you ____ without slippers.
1. has been... be... are walking

2. was... be... walked

3. are... be... are walking

4. is... be... walk

Correct Answer :-

e is... be... walk

24) Choose the appropriate tense to fill in the blank in the given sentence:

Penicillin, Flemming’s discovery, the lives of many people.
1. has saved

2. save

3. will save

4. had saved

Correct Answer :-

« has saved

25) Choose the most suitable pronoun for the given sentence:
______listhis pencil?

1. Whom

2. Whose

3. Who's



4. What

Correct Answer :-
¢ Whose

26) Choose appropriate articles for the given sentence:
Jim has ____ bike but he doesn’t have ___ car.

1. no article required... the

2. a... no article required

3.a...a

4. the... a

Correct Answer :-

27) Choose an appropriate article for the given sentence:

China is, largest silk producing country around the world.

1. the
2. an
3. no article

4. a

Correct Answer :-
o the

28) Choose an appropriate modal for the given sentence.

It is cloudy. It rain today.
1. needn't
2. would

3. should

4. may

Correct Answer :-

29) Choose the option that best explains the highlighted expression:

You can make a person'’s day just by telling him how important he is to you.
1. dedicate a day in his name

2. make a person’s day very special

3. make him feel hurt

4. give a day in his life

Correct Answer :-

« make a person’s day very special

30) Choose the right tag:

We mustn’t say anything, ?
1. can’t we

2.isn'tit



3. should we

4. must we

Correct Answer :-

* must we

Topic:- General Hindi(L2GH)

1) 3(F ISTWT B BIS TET BT 3T Fd I b T ANRISH B 1R 789 | RIS gHS! 8 T €, I579WT IR dsh! & Hgdl fhdl | R dss YAl el Su! aral
TR S &a; AVRTSH & 987 ot A RTTR | U sraay fUsiamn 411 98 dso! & faaman w1l gag gl Ut & goiq a 9l dg& ARSI &) 3R ST s/aad
@ wa | et g & gad ot 3UP SINI-UTH TSH| BT STHUES T IgdT| H3 AN elferdl A 3P TR a &l A | ARRISH ifayde Tt &Y =T srerew faamar, ®
Pl &Y g1y TE TR AT SEaH F g W T AT R UH-Uh UAT Udedl, TSP 9% B G 811 3R d 3R wan 3 asfeat ot 30 ey &t 3@ & fig
I A1 Ut Tsfal #Y eryar ot 3R Sraew A o | FefPpal # ag au-ariT A Wt N1 ARG A FOR TP Ty 39 3| ;W a9 dsfHar

T ST e e 3 arew &

UL TR Y Ugeh T T T YT BT Sk 3¢
TR ANRISH A9 b1 3 faRgar um?

1. 30T |afr

2. Hdel Th-Ueh Yeall Jolcah

3.%dd Mg A TWH

4. %hdel Afaqds

Correct Answer :-

o 3RIFT T

2) 39 ICTWT B BIE TE) Tl TS $A T P TG AVRISH $I BR 7@ | “ARRTSH GHS 81 747 , ST IR T8H! & Hedl [hdl| R T8 YAl B8l SuP! ardl
TR S &a; TVRTSH & 987 ot 3 RTTR | & sraay fusiaman 411 98 aso! &! fiaman w1l gag ugdl Ut & goiq a@ 9l dd ARSI & 3R 3 saad
@t s | eneht gt & gad ot 3UF SII-UTH TSH| BT FTHUS T Tl S AN Slferdl # 9P W aF g A | ARRISH Sifagde Tft &Y e srerew famar, w
el 31 g1y TE @A AT I B e A W AT R UH-UP UA Uded], ASd a9 STH G o | R af 3R Fen Y dsfepar Wt 39 sraay &Y 3@ & e
I N | Ut asfral Y onqar o+t ok sraaw wiT o | asfral B adt au-aRiR At Wit 1 ARG A SR geTe] ey S | 2 9@ asfear
e T T e I Ao &

IR TR B UgHR -1 ID Y U= BT Sk qa1zvl

U: A1 $T STHUC [T To ATRISH B Y I@dT 4T?
1§ & PIS A

2. %ad FI§ & Tgoll B F qo

3. hdel T Tl & gk

4. GaE &I Igelr 9 & Fofel a3 I gedt F awd aet

Correct Answer :-

« GaE A ggel 6 F dol o I 3Meh gl & awd aar

3) 3F W B HIS T8I YDAl TS $A W $ G ANRISH B1 8 389 | RIS THST 8 747 B, I60WT AR ASH! § hgdl il W ASP WAl Haf Sud! aral
TR T 39; RIS & A1 o A RRTR & T sraaw fisaran 411 98 as@! $) famn wva1| Jag vl 981 & a9 9@ Tt a9 AR &t R w7 3aaq
@ a1 3neft gEt F gad W TP ANI-UIY ASH| BT THYS T I§aT| H3 ART Sl A ST U a9 81 38 | AR Mifagde 4t 1 =T sraaw fo@ma, v
et 31 g1y TEY @A AT I B g A W@ AT R UH-US UAT Uded], ASd a9 STHR G o | SR af 3R Fen # dsfepar ft 39 sraay B 3@ & e
IgP A1 urdh asfral Y oryar o+t 3R sraew A o | FrefHal # agt au-ariT ar Wt 1 ARG A FOR T ey 39 | ;W a6 dsfear
e ST T e 3 arowy &

IWIT TR B UgHR 1 ID T YA BT Sk qa1z¢l
T: ST, ANRTS &) 9He Bedl ¢ Fife?

1. APRISA & 9 3elde 2T
2. APRISTT & T8l e ¥
3. ARRIST HETdT S 27|

4. APRISI & oIsfhdl a1 sar o7

Correct Answer :-

o ARRISA & 91 3ol 2T

4) 3Q IS HY B TG BTl 3T $ W S TG ANRISH B 8 39 | RIS GHST 8 7497 §, I AR ASH! § hgdl il W ASP YAl el Sud! aral
TR I Q; RIS & 91 o A RETR @ T sraaw fUsaman 411 98 des! &) faman $a1l Yo gl 61 & a9 a6 Gt d8% ARRSH 6 ¥R 61 3/aad
T e | 3neft gEt F o W TP I-URT ASH| BT THYS T T§aT| H3 ART S A TP W a9 81 3 | AFRTSH ifagde Tt 1 =T sraaw fe@ma, v



foralt Y g1y TEY TR AT SrAraH Y Tig W T AT 3R TH-UP UAT Udied], S a9 STh G &1d | 3R Y 3R wen Ft asfeal W 39 sraan &) T & g
e N1 urdd asfal Y orqar ot 3R sraew A o | wrefral # agt Au-arit arh et 1 RIS A TR TeH ey 3@ | 7w aw asfear
S Rt ¥E fhR I aruw F fam

ST T B UEHR A9 D T IR BT I« KT
W ST, TRTSH $1 HT Fgal gl 82

1. ITeTH

2.9

3. 37TerEr

4. gHIY

Correct Answer :-

5) 3/d ISTWT B BT 8] UBT| 3o $d U9 & UG AR $1 &R 384 | ARRISH gHS} 81 741 8, IS0 IR a8H] § Hgdl [hdl| W a8 Yal $el SqP! aral
TR S &a; ARTSH & 97 Sft A RTTR | U sraaw fisiaman 411 98 as@! &1 i@ $d1| gag Ul Ul & 9o a@ 9l d$% AR &) 3R 3T 3raad
T e | neht gEt F g o TP I-URT ASH| BT THUS T 5T | H3 ANT SHerdl A SHP OR a9 81 M | ARRTH ifagde Teft 1 3= sraaw feamar, R
foralt Y g1y TEY TR AaT| SrAaH Y g W AT 3R Th-UP UAT Udied], dSh o STh G &ld | 3R Y 3R Fen it asfeal W 39 sraan &) T & fig
e N1 urdd asfral 1 orqar ot 3R sraew A o | Frefral # adt Au-aRit A et 1 RIS A TR TewR sraew 3@ | 7w aw asfear

S et T8 fpv 39 aruw F fam

ST TR Y TR A4 S T IR BT I« Ty
TR R Teg A A T 32

1. Se

2. dcaH

3. facelr

4, degTE

Correct Answer :-

6) 39 ASTWT B IS 8] USAT| AT Hol T P T ANRIGH B W ¥ga | ARRISH THST 81 7T 8, ISIWT AR TSP A Hedl bl IR Tsd Hell Bl ST aral
TR S Q; RIS & 91 o A RETR J T sraaw fisaran 411 98 el &) feaman #va11 gag ugdl 9 F 9o 96 Tt a9 AR Bt R 6 saad
@ wa | et g & gad +t 3UP SII-UTH TSHI BT STHUS T 31| HS AN elferdl # 3P TR a &l A | AFRISH Nifayde Tt &Y =T srerew faamar, w
Pl & g1y TET TR AT SEaH B g W T AT SR UH-UD UAT Udedl, TSP 99 TP G 811 3R df 3R wan 3 asfeat ot 30 sreey & 3@ & e
IgP A1 Ut Tsfal #Y oryar ot 3R Sraew HiH o | FefPal # ag au-ariT A Wit N1 ARG A FaR T a9y 34 3| ;W a9 dsfear
T T e e S aTuw & o

SUYeR TR B Y] A T T U= BT I« a1zl
w=: wifer 1 faei @ 2

L. end

2. Jenfa

3. A

4, fNder

Correct Answer :-

. srenfa

7) 39 AW B BT gl BTl 3o $d UG & WG ARG $I 8 Igd | RIS THS} 81 7491 8, IS0 TR aSH] § Hgdl (bl WR a5d Yal Hgl SAS! aral
TR S 3Q; RIS & 91 o A RETR Q T sraaw fusarn 411 98 de@! &) feaman #va1| gag gl 9 F 9o 96 Tt a9 AR &t R 6 3aaq
@ wa | et gt & gad ot 3UP SINI-UTH TS| BT STHUCS T IgdT| H3 AN elferdl # 3P TR a &l A | AFRISH Nifayde Tt &Y =T srerew faamar, ®
Pl &Y g1y TE TR AT STIH F g W T AT SR UH-UD UAT Udedl, GSd 99 OB G 811 3R df 3R wan 3 asfeat oft 39 ey & 3@ & g
Ig® N | Ut asfral # Snqar o+t 3R Sraaw TiT o | Al B adt au-aRiR A Wt 1 ARG A SR IgTa] Sy S9 T = 9@ asfeat
JaaH @ ¥ bR 3 arvw o

UG TR P TGP A T T I FT IR a5
TR e’ W e | @ P-a 32

1. a2l

2. Fcq A

3. fagel

4. deyTa



Correct Answer :-

8) 3(d ISTWT HY HIS LI BTl 3T $& W S T ANRISH B TR 389 | RIS GHST 8 741 B, I0WT AR ASH! § Byl fdll W dsP YAl Fef Sudt aral
TR A &d; ATRISH & AT i A RFTQR & T sraaw fisamn 411 98 as@! &) famn $wdal| Yo ugd! 981 & 9o 0@ 9t a5 AFReH o R 31 saad
T e | neht gEt F g o TP I-URT ASH| BT STHYS T 5T | H3 AR Sl A SHP WR a 81 31 | ARRTSH ifagde Teft 1 3= sraaw fegmar, w
foralt Y g1 TEY T 4TI SrAaH Y Tig H W AT 3R Th-UP UAT Udied], S o STH G &ld | 3R Y 3R Fen 3t asfeal W 39 sraan &) T & g
e N1 urdd asfFal Y orqar ot 3R sraew A o | wrefral # adt Au-arit A Wt 1 RIS A TR TeH sraew 39 | 7w aw asfear

S Rt ¥E fhR 39 aruw F fam

ST T P Ugh? N I T U P IR a5yl
U: ‘ISP’ BT UHad F1 ghI?

1. ST

2. TISH

3. TSI

4. SIgeRt

Correct Answer :-

9) 3 ICTWT B HIg 8] USAT| TS Hol Y P T ANRISH P R ¥ga | ANRICH THST 81 7T 8, oUW AR AsH! A Hedl bl TR Tsd Hell Hal Sqb! aral
TR S &a; ANRTSH & 9T St A RITTR | U sraay FUsiaman 411 98 as@! &1 foaman #d1| gag Ul Ut & 9o a@ 9l dg% ARSI &) 3R 3T sraaq
@ e | neft gEt F o W TP AI-URT ASH| BT THUS T 5Tl Hs ANT SHerd A SHP WR a% 71 M | ARRIS ifagde Gt 1 3= sraaw fa@mar,
el Bt g1y TE A AT ST B Tig A T AT R UH-UP UHAT UAedl, ASP a9 STH G e | 3R af 3R Fen # wsfPpar Wt 39 ey w 3@ & Riw
IgP A1 U Tsfal #Y orpar ot 3R Sraew A o | FefPpal # agt Au-ariT A Wit | ATRISH A FaR T ey 34 3| W a9 dsfear
ST St T R 3 9T o

SUYe TR P g I T T W= PT IR qargyl
TR: 3ATH FET A TT UT?

1. TR &

2. 3R ¥

3.feT &

4. AR &

Correct Answer :-

. R @

10) 39 ST HY HIS L YBAT| ST H& TG &b T ARISH B 8 ¥gd | FIRIG gHS} 8) 747 B, I50wT IR agh! F wgdl fhdTl R agdb el gl Suat
Tl TR S 3; RIS & AT ot 3 RTR & U sraaw fisaran o1 98 a6t 31 faarar w1 gag vt 6 & aom a@ 9ft agd RIS &Y R R
e ST FRa | 3eh gE F g9 W 3P SM-UT TSH| $T STHYUS T IgaT| FS AN Iferdl & IS W a9 81 M | ARRIS 2rifagd® Tl Y o= sraaw
framan, W frft @t g1y T T a1 e H g H @ AT 3R TH-USH UAT Uaiedl, TS a9 WP G e | 3R oY 3R Fenm Ft Asfpar Wt 39 sraew #Y
T F oY Ige Y| urde Frefpal F eRTar a+t 3R e i o | Al # aEt au-ariR A St A | RIS A AR dgTe] eH IW Tl I 9%
defeal 3raad ¢l T8l fhy 39 aruw o< fea

IUGEH TR Y Ugeh T T T YT BT Sk 3T
URH: defpul Bt 3rqs S g+t i

1. ARRTST

2. i

3. YreTear

4, Il

Correct Answer :-

11) 39 TSI HY HIS L YD1 TS H TG &b T AR B 8 3§ | FRI g6} 8) 747 B, I0wT IR agdh! § wgdl fhdT| W agd el $gl suat
Tl WR S 3Q; RIS & AT o 3 RATR & v sraaw Rismaran o1l 98 de! 31 fakaran w1 gag vl 9t & aom a@ 9ft agd R & R
e 3T FRa | oeh gE F 99 W 3P M-I TSH| FT STHUS T IgaT| FS AN S Iferdl & SUb W a9 81 o | ARRIS 2rifagd® Tt HY o= sraaw
fraran, W frdt &t g1y T T a1 e H g § 3G AT 3R TH-UH UAT Ueiedl, TSP a9 WP G g | 3N oY 3R Fen Pt Asfpar W 39 srew #Y
T F oY Ixge A1 urde Trefpal F eRTar a+t 3R e A o | Asfpal F a8t au-ariR A St A | RIS A FaR e} aed IW Tl I 9%
wefpal raa aEdl W) b I/ aruw o faami

IR TR B UgHR 1A YD T YR BT Sk qa1zul
UL: ARRTSH &1 3raad fpaa &f ofi?



1ErEr o
2. AT o
3. HEAT &
4. far

Correct Answer :-

o AT A

12) 3T IS F! HIS 781 TSdT| TSl el Ja P G ANRICH B 9¥ 76 | RIS THS! 81 7471 8, ISTqWT R ASH! § Hedl fhdl| W) TSP Hall Hal Sud!
el IR AT 3; RIS & 9T ot 3 RETQR / v sraaw fisraran o1 98 as@! $ fi@man wvar| gag vgd v & go 9% T a$d AR $Y R 9
3ATH 3T B | el FE F aad WY 3P MTH-UTH ASH| BT SIHGE AT TgdT| B3 Al Il § IqPb O a9 & 3 | ANRISH Wifayde wll S 391 sraaq
faaTar, W forlt &) g1 T A AT IrAaH B e W TG AT 3R UH-US UAT Uded], ASd 9 WD G i | 3R dl 3R Fam &t asfepar W 39 ey &1
@ & fow Iy ff | urdt arsforal @1 sppar o+t 3R sraaw i o | arsfral # adl au-ariR A St <t ARISA A FaR FeTd} ey I feun mw 9w
asfFal sraan I ¥E frv 39 aruw =

ST T Y TR A9 D T IR BT I« Ty
W RIS A aSfal ol 3y Ha faar ur?

1. %R TG B

2. 397 # IR

3. 8 SER

4. I
K}

Correct Answer :-

13) 39 ST HY FIS L YD1l TS H& T &b T AR B8R 389 | RIS gHS) 8) 747 B, I50wWT AR dsh! F wgdl fhdTl W asd el Fgl Suat
Al IR 4 3Q; RIS & AT oft 3 RETR & U sraay Rismara o1l 98 as&! 31 faarar wv«r| gag ugedt 9t & aoq a@ 9t as& RIS &Y R &R
SAeH 3T R | et FE F aad WY 3P 3MMTH-UTH ASH| BT STHYE G IgdT| B3 Al SIferdl § I U a9 g 3 | AFNRISH ifayde Wl S o1 sraaq
framan, W frft @Y g1y T T a1 e B e H 1@ AT 3R TH-UH UHAT Ueiedl, TS qH TP G eI | 3R oY 3R Fenm Ft Aefpar W 39 sreew #Y
T & forg S | Tt wsfal @t snpar o+ SR sraew WM s | wrSfat & a8t Aw-RR AR St 1 ARISE 3 FaR gere sraeH S9 | AW 9w
asfeal e JEd ¥ fbe 39 araw # R

ST TR P g 1 T T W= PT IR qargyl
U: ATRISH & ag% 1 O 38d U?

1. 3561 A & HROT

2. 38% YreI TIHTE & HROT

3.38% A & HROT

4.39% HeldH & HROT

Correct Answer :-

o 3% A F HROT

14) 39 ST HY HIS L YDAT| ST H& TG &b T AR B 8 389 | FIRIG g6} 8) 747 B, I50wT IR a5t § wgdl fhdTl R agd el Fgl suat
Al TR S 3Q; RIS & AT ot 3 RTR & U sraaw fisaran o1l 98 a6t 31 faarar w1 gag vt 9 & aom a@ 9ift ag& ARIeE &Y R R
JAaH 3T e | 3Meht FE & aad Wt 3P MTH-UTH ASHI BT THUE I IgdT| B3 @l Siferdl H I U db gf 3 | ARG ifayds Wl 1 o1 sraay
feramar, W frft @Y g1y T T a1 e H g H 1@ AdT 3R TH-USH UHAT Uaiedl, TSP a9 WP G e | 3R oY 3R e it Aefpar Wt 39 sraew #Y
T F oY Ixge Y| urde Trsfpal F eRar a+t 3R e A o | Al F aEt au-ar iR A St A | RIS A AR FeTe] ed IW faan| I 9%
defeal 3rad ¢! T8l b 39 aruw o fea

ST T B g Y T T U= BT I« a1zl
WRA: el | e WA & AT 3R $1H IqF 4T?
1. e

2. 95%

3. wrsferat

4, FIE

Correct Answer :-

15) 39 ST HY HIS L YSAT| ST He TG &b T AR B 8 3§ | FIRI gHS) 8) 747 B, Ie0wT IR a5t § wgdl fhdTl W agd el $gl suat
Tl TR S 3Q; RIS & A1 o 3 RATR & v sraaw Risaran o1 98 dew! 31 fakaran wvar| gag veelt 6t & aom a@ 9ft asd R & R &R



SAH 3T B | el FE F aad WY 3P MTH-UTH ASH| BT STHYE G IgdT| B3 @l SIferdl H I0P O a9 & 3 | ARG ifayde Wl &1 391 sraaq
feraran, w foreht &t g1y T @I a1 e F Mg B 3G AT 3R TH-TUSH UAT Ueiedl, A8 99 SUHY G ga 1 3R of ok e #t asfrat WY 39 sraew Y
T F g Ixge M1 ardd wrefral Y orpar a+it 3R sraew AiH o | wsfral # a8t a9-aRR Tl St | AR A FaR g e I e W 9
wSfral sreaH @l T8 fbe S aTuw  far

ST TR Y TR A4 S T IR BT I« Ty
URH: 3RTET | FT a1 82

1. 3T @M=l aTelm

2. 3T arelm

3. HRT arel

4, gfafafica &t aren

Correct Answer :-

. gfafafica e arer

16) A AT T FTER
il § R @1 I@ER
WAFE-gE P g I
wR Y 59 § SR
fopam foa foraht &t vk
T B S Wil TR

g o wh @ Rrgh
foran SR Wt fgdh
Tgd A gH U1 9
ve-RrE® it IRAR|
7T URe HTE R
-9 3R e 31

ST 37T § g1 fRrwreeT
TSI I BT SUER|
Be-91 R fa IR°
T GiraT WR B ER
Q- | AR

s TeT ? fed F AR
IUYT TR B UGHR A4 IS 9 9Td WA $T I« qa1gyl
w1 o 8 & gl g a1 B R AT €2
1. s

2. 3eHA

3. W@R

4, 3UER

Correct Answer :-

17) AT FTER
Il § R ®1 I@ER
¥ A gE-g@ 31 ¢ ard
TR ¥ 39 § IR
e fo foaht & o
T B 3TS Wil uR|

g org w1 gt
foraT SR Wt fgdh
Agd A gH T It
vg-fora® gl SIRmR|



7T e HTE e
-9 3R i 31

ST 37T § ST fRrwrweT
HAS T BT SUER|
Be-A1 R fa )

T GiraT WR B ER
Q- HI AR

Sits 1§ fw & awi

ITIT U FI UgHR A IR TM 9T Y= BT &R ga1gu|
WR: AT $T T GRI?
1. =y

2.7

3. =

4. Idr

Correct Answer :-

18) R AT FTWR
Rt & W &1 smER
WAYE-gE A I
TR 4 39 § 9hd
A o fraht &1 o
T B 3TE Hial IR
Tg s wuht ) fgh
forar 317 wdt frgh
Agd | gH U 3t
ve-fergee gift ifkmR|
TTIT Ui $TE RRrEd 81
-1 3R e #1
SIS T B TST Rt
JUS AT HT USRI
Bler-A1 R fa )
AT giraT R B ER
AT A GATHY

s ¥eT 8 faw & aw|
ITIT U $I UgHR 12 IR WM aTd Y= BT I« 941z
W= 99T RIBTRT fhds gRT AT SN 872
1. grar

2. AFAT

3. Redr AR

4. 9Tt

Correct Answer :-

19) A AT FTER
Il 3 W &1 srmEr
A gE-g@ 1 ¢ I
TR 4 39 § 9hd
e fo fraht 1 o



T B 3TE Hial uR|

Tg s wudt 3 Rt

feran 35 wrdt gt

g1 A g7 T 38
wg-RrEe gl SIRmER|

U7 URE F1E fRrad g
-1 3R fema §1

IS T § ST RrpTEeT

JHS AT FT SUSR|
BleT-A1 R T )

Feal giar R AT R
Y-IY W GATPY

St o1 ¢ e & awi

SUYT TN B TSP A [S o 918 U= PT I« qargyl
W 93 freTd | Tt giar 82
1§ & HIg A

2. 39FR

3. @R

4. 39gX

Correct Answer :-

20) R AT T FTWR

Rt @ W 71 oREER
WAGE-gE@H §aN

WR 43 59 § 9hmd

fpam fo foraht &t v

T B 3ATS Hiell IR

g oTg w1 fgh

foram =1 wrdt fogh
HeTd ¥ g9 U et
Tg-Rrae gl SiRmER|

1T URe HTE e
-7 e fiEd 7

T T @ TST RIBTHT

A AT BT SUGR|
Ble-1 SN fod 1)

HaT givaT W BT R
TY-TE A FADR

it w13 e & awi

ST TN B TeHT A1 I S 918 UL $T I« T8¢
T T A Rt A w R @ 2
1. 3T gafr

2. %hadl Agad ¥ YT Fgl
3. Fael PR Toter Tt

4. a0 TENUT, AT R

Correct Answer :-

o 3T gofr



21) Rt AT T ER
Rt @ N 71 oREER

T 4 gu-gu @1 ¢ A
TR ¥ 39 § IR
fopam fo forah &t e
T BT S Wl TR

g or$ w1 fagh
foran SR Wt fdh
Agd & gH T 3t
vg-RrEs ghft RmER|
1T URe HT1E RRrad §1
-9 3R i 31

T T B TST FRIBTEHT
A AT BT SUGR|
Ble-91 R fa i)
HIal giaT W BT R
TY-TE A GADR

Sits w13 e & awi
ST U B UGHR A9 IS 9 9Ta U= $T I« qa1gyl
W= uTa fre W e @2
LR I3

2. URTHE W
3.8 W

4. TAFERX W

Correct Answer :-

. OEHS |

22) R AT T EOR
Rt & W51 smER
WA FE-gE A I
TR ¥ 39 § 9
A ot fraht & o
T B 3TS Wil uR |

g or$ el 1 fgh
foran So1R W fgh
HgTd A gH e It
vg-fora®s gl SIRmR|
TTIT Ui BTE RRrad g1
-7 ieR i ¥
IS ST § T RiwTeT
JU AT FT USRI
BleT-91 R fa &)
Fel g R Bt IR
AY-Y WG AT

s ¥eT1 8 faw & aw|
ITIT U FI UgHR A1 TD WM aTd Y= BT & ga1gu|
TR T $T waiaardt $ie-a el 82
1. forerer

2. 9T



3. dgwr
4. 3UER

Correct Answer :-

23) R AT T ER
Rt @ W @1 smER
¥ 4 gE-g@ 91 ¢ ard
TR ¥ 39 § IR
fopat fo femait &t <t
T B 3TS Wil uR|

g or$ w1 fagh
foraT SR Wt fgdh
AgTd | gH e 9t
vg-fora® gl SIRmR|
uTTT Ue PTE RRrad &1
-9 3R i 71

S ST § ST RiwTeT
JHEN 9T BT SUER|
BleT-91 R fa &)
FaT g R IR
AY-Y WG AR

s ¥eT1 3 few & aw|
ITIF U FI UgHR A1 I WM aTd Y= BT & ga1gu|
W Hed’ o1 fadw @m gk ?
1. afessy

2. 59

3. 3Terdr
4. g

Correct Answer :-

24) R AT HTER
Rt @ W &1 AR
¥ A gE-g@ 31 § I
TR 4 39 9 9
e fo fomait &t
T B TS Al IR

g g 7l 1 fgt
feran 321 @t gt
A5 | gH e 9
Te-ferge gift gifkmR|
1T R HTE e €
-1 3R fema §1
S 7T B TST et
JUS AT FT SUSR|
BleT-A1 R fa )
Feal givaT WR AT R
ALY A GATHY



Sits 1% fea & awi

ST TR B UGHR A4 IS 9 9Td WA P I« qa1gyl
Wz R &1 wafgard s-ar a8 32

1 &

2.

3. feamr

4. Fetstl

Correct Answer :-

25) R AT FTER
Rt @ W &1 smER
WA YE-gE A I
TR ¥ 39 § 9hd
A o fraht & o

T B TS Hial uR|

Tz IT$ Wl P fRrgh
foraT ST W fgh
Agd | gH YT 3t
ve-Rr@s it IRmER|
TTIT Ui BTE RRrad 81
-1 3R fema #l

SIS T B TST Tt
JU AT FT SUSR|
BleT-91 R T )
T giraT WR B ER
- A GATHY

s ¥eT1 3 few & aw|
IWIT U $I UgHR A1 UD WM aTd Y= BT I« gaigu|
w=: ForgdY & war-orm gar 82
1. 3WFd |air

2. $dl GE-G:G A W
3. had R #A Hiemd

4. Fge AT F R

Correct Answer :-

o SWIFT TH

26) R AT FTEOR
Il 3 W &1 srmEr
U YE-gE@ H g I
TR 4 39 § 9
e foe fraht 1 o
T B 3TE Hial uR|
Tg rs wuht 3 fgh
feran 351 wrdt gt
g1 A g7 U 3
wg-RrEex gl SIRmER|
U7 URE F1E firad g
-1 3R fema §1



STq AT & FS7 foreTwT
JHS AT FT SUBR|
BleT-91 R fa )

FHeal givar W AT R
Y-TY W GATPY

St eI 8 e & awy

SUYT TN B TSP A1 [S o 9Ta WA PT I« qagyl
w=: fordY R & forw @ @2
1. 30T |afr

2. 3@IR

3. gl

4. R

Correct Answer :-

27) it iz s wr

R & W &1 sr@ER

39§ gu-gu I § ard

WR 43 39 § 9

fram fo= foraht €t I

T B 3TS el IR

a5 o o A R

feran 32 wdt frgt
HeTd ¥ g9 U ¥t
Tg-RrEe gl SiRmER|

uTIT URe $TE ferEd 71
-1 9feR fREa #

S T @ TST RIBTHT

HAS I BT SUER|
Ble-91 SN fod 1)

HaT givaT W BT R
TY-TT A FADR

it w13 e & awi

IUYe U FY Ugw] - UD WH 91d Uk BT SR qargel
T T SiaaT A R S gRI AT S @ 2
1. 3T gafr

2. Fddl HS-ART 9H7

3. hdel AU-AAY el GATCT Bl
4. %ad TF o & AR F g} R & s @ g
Correct Answer :-

o 3TAEFT Tl

28) R AT T wR

Rt @ W 71 oREER

T 4 gu-gu @1 ¢ A

oR 4 39 ¥ IR

fopam fo fopah &t vt

T BT S Wl TR

a5 o o A R



foran 317wt f g

Agd & gH U 3t

v-foraes gl SIRMER|

1T URe HT1E RRred §1

-9 3R a3

9 T § ST RrpTe

A AT BT SUGR|

Be-91 SR fo 1)

Hal givaT W BT R

TY-TE A GADR

s w13 e & awi

ST TR B UGHR HE IS 9 9Ta U= $T I« qargyl
TE: T Pidar § $fd 3 fraat wewr &1 Rifya frar g 2
1. forewreT

2. RIsdr

3. FTS

4. 9T FTE

Correct Answer :-

29) R AT FTEOR
Il § R ®1 I@ER
¥ 4 gE-g@ 91 ¢ ard
TR ¥ 39 § IR
fopam fo forait &t et
T B 3TS Wil uR|

g or$ el 1 g
foraT SR Wit fgdh
TgTd A gH T 3
vg-fera® gl SIRmR|
uTTT Ue HTE RorEd B
-1 3R i 71

IS ST § ST RiwTeT
THF 94T BT SUER|
BieT-91 R fa i)
FaT g R IR
AY-Y WG GATRY

s ¥e1 8 few & aw|
SUYTH R P UGHR A T T 9T TR T IER qage|
TR BT W T § § Fm R
1. &S

2. IcaH

3. fagel

4. T

Correct Answer :-

30) R AT T wR

Rt ® W &1 AR



¥ A gE-g@ 31 § I
TR 4 39 § 9
e foe it &1 o
T B 3TS Wil uR|
Tg 3g waht 3 frh
foren 5213 Rt gt
Agd | gH U 3t
Te-RrEex gl SIRmER|
1T O HTE e €
TH-T JiER i {1
SIS 7T B TST Tt
JUS AT FT SUBR|
BleT-A1 R fa )
T giraT WR B ER
ALY A GATHY

it o1 § Rw & awl
IWIT U $I UgHR A1 IH WM 9Td Y= BT I« ga1gu|
TR UReHTS e § & Fan @2
1. QST

2. dcdH

3. fagel

4. T3

Correct Answer :-

Topic:- HINDI (HIN)

1) fararor Werg® AT FT AT FA FHT €A o1 AT B aw -
1. 39ad qafr

2. et Teror g & AT TR gorar aar 3uged @l

3. e FHOT § FEETd 8l

4. Fde FET & T e Hr wiied &F T+ &l

Correct Answer :-

o 3TET Tl

D FAgEAFARNA___ | 37 @ §@ 30T USAl § G # FlA 6T AW GIFA gl ?
130w §

2. Fras 3T &

3. %o o §

4. ¢ Sord §

Correct Answer :-

3) forw RA&TOT I F HTEOT F qAF A TR A0 Bl 32
L quT & 3721 #r 3R

2.7 ¥ 3 & AR

3. faw & "A @ AR

4. 9THAT F e 7 3R



Correct Answer :-

. 3T e @ 3R

4) 5 YR & TA H Go9aIF F Seol@ AT ST §?
1. IIRETR® 97

2. feerd o

3. 3AigeTie 97

4, G 9

Correct Answer :-

o TEHRT 9T

5) g d q Prw SAf¥dca #1 A FHS ACE § [ gIT 8?7
2. AgeT TheT

3. G gTRIH

4. gid TR

Correct Answer :-

+ Hhe g

6) 3 ¥ R TR F g ¥ weeh & aforard grar #2
1. aiRae a3

2. FiEfes o

3. ARl &9 e 9

4.3 q FIg G

Correct Answer :-

7) ‘3 Y RS qarn @ aes 82
1. ATgeT THA

2. 3UGTT 3%

3. RcIg, FReTw

4. frsH AgeAr

Correct Answer :-
o 3UGATY 3eH
8) TsAT AT Remew e we o TuRd #2
LHS
2. SITTE
3. SelTgTeTe
4. fgoelr
Correct Answer :-
. feoeh
9) ‘Teg A VT W ITAHEN N 17T §?
1.3
2. 772 gwEiE



3. g AR
4. BUNREEATY I]

Correct Answer :-

10) ‘i AR F v wdar-ur R o srean?
1. fvemr #Hr

PRECIE

3. 3TEATIH

4, gYTATERY

Correct Answer :-

11) ‘FdRT @I TR F S @R WG Aew ¥
2. AgeT TheT

3. i~ Fger

4. gRpSUT el

Correct Answer :-

. s~ @

12) ‘TR Fga fras ganr faf@a faew 82
1. §IRY 9TE; gfader

2. 3T BReets

3. 9 AR A

4. 9Tl ST HET

Correct Answer :-

13) A v R AT @S F AW W I@T AT §?
1. §IRY 9HTE; gfader

2. ol e gfaadr

3. el I faady

4. HEIER Te gfaaer

Correct Answer :-

14) ‘R FRar &1 e ey Fa Ao & ey § mdeme?
1. afefcas ey

2. WeATleAs faser

3. GolellcHA® foaer

4. AR A€y

Correct Answer :-

. arfgfcas Heer

15) ‘ag 9T TieaT 4T 3R 9% 3 AT 7T F1 By ag F wiawer FeT F F Sl ar @2



1. 98 Fehell ATEAT AT 38 fHer a2

2.9 TOAT <A1gAT AT 38 el |

3.9 TUAT AT AT 3T Fr Her |

4. 9g S $9AT ARAT AT 3 ar f&Her Iram)

Correct Answer :-

. 9 S T9T dIEaT AT 39 A fAe |

16) ‘Fit fraer slgfe sera @ 3IET T FIT F AT T & FFagy g9 ¥ O Fla F FEy Fgen §?
1. HTaTeHS fAaer

2. 3T faeer

3. AUTATCHS foaer

4. faicas faey

Correct Answer :-

. HracAS A

17) ‘qANMETE e FT FEGYH Sea@ ‘FAIAE TTAE ofder faaer & gam R, gwd fsuaw §-
L. AfIeTE AT

2. 7ie; g arerar

3. 3T AT Y

4, gl ERIeE acardsT ‘AT’

Correct Answer :-

18) fFE Bog & WAF WOT A FAW: WA 70T AR HT H A % @ § qUT WRAF WOr F qoit Hr FEwr 23 g §7
1. goE 3 oow

2. AAIeG, | B

3. AR w31 Bog

4. fFlie w3 B

Correct Answer :-

« ARG HAAT Bog

19) srage ed canl fAf@a Ry #1 Rger fFa war & ey §2

1. e ATeHSE faey

2. FellcA® fAeer

3. TTRT fawges faser

4, aifera faser

Correct Answer :-

20) ®=1 1943 §. # IAT IR FORA ‘AR T & AT & ¥ Fla-@ Ry 6 AW gaRa 7@ 6
1. SHTER AT

2. G 3rayaret

3. AfFEg o

4. AN 3IOT JraTe

Correct Answer :-

o HERATT AT



21) HEl F I ATGHT F SR F HTA UG FA AT, Af -
1. BT 3UA-3T9H FASR 7 FHH|

2. B 9= fAsh wfsarsar sar ah|

3. B 3T G I & F Tl

4. BT & fow 3R 9k W T9 A& & T

Correct Answer :-

o BHEr & v HReE 9fiHaT WA TF @6 8 a6l
22) 5 g ¥ T AF WOT H 16 3R 12 & a1 e (3fQ) 3k 28 AT gl § 39 org A Fea §-
1. Pl oog

2. Gl B g

3. el By

4. gReNfaeT g

Correct Answer :-

. gRefasr o<

23) yaa Hivrer A HTF -

1. e fafer

2. 3 TgoT

3. eTeg T

4. gegaT fafer

Correct Answer :-

. 3 g

24) o3 & 3 & Qe FT G BHE A€ R s §2
1. 99 # i & #9a & fov

2.99 & o[l 1§ Hgcaqol a1d forme & faw

3. R avg & o w & B

4. YTCcehell &1 ga o= & forw

Correct Answer :-

« 9T H HA T Agcaqul a1 forws & forw

25) g7 d@d # ‘Al womae ¥ B feg #1 gARY 7€ @ar 2
199 & HEST HT AYAEET gl

2.99 & A9 A

3. 99 & HETSA & T

4. [{uH R=gr &1 yAer

Correct Answer :-

- 99 & FWES FH G

26) itaR® va IgaReE Faur & Py avg A JI9T 1 g FwEr aifge?
1. T&H g HT &

2. &fSeT HIWT

3. AT TS

4. 3Teld-3TeTdT ATST



Correct Answer :-

27) waivrardr wRar #1 qE gt F ¥ A ¥
1. 3gaTdr ygfy

2. 3UATAT ST AT

3. Siefererar &1 wreeR

4. FEIATET ATGeAT

Correct Answer :-

« EEIAE HIGAT

28) AT AT YAFAT F HUR W g4 § FiT H Q& smww 71d §2
LR 3R 3R

2. Tsg 3R ST AT

3. §9% 3R Eare HIST

4. arfefeaes 3R Sre-are v oo

Correct Answer :-

29) e F1eT F GG, FUNA A sqaedr & AR a ¥ 3 39F & & 7 F agar 7A@ S I ¢
1. Y&Y &g
2. fser wem
3. {FaT HeA

4, fAser Frew

Correct Answer :-

30) et Rraror F R Fdd F aeat fr AT F Be wF Twa e ¥ -
1. AT T fSeaRor

2. JreaTfeAs TfseahroT

3. gfaeR g fSeamror

4. FATSIRATEA TfSeepior

Correct Answer :-
. AdeTEE oo
31) smar 1 IRYFEAT & awId § -
1. ST O AT i STSERT gl
2. 19T &1 RIS ger Tl
3. 49T & 3ragar AR FRE 9 3rfarg=or g
4. fafay swrait fr SRy @

Correct Answer :-

o RO AT T SAETHERT g

32) T HWr@er Y GRRAT F I TEYH fRE o F drgar 87
1. GFHTST

2. TSCHTST



3. ATGHTIT

4. J(STHTST

Correct Answer :-

33) gt e # T o F FRATS TE o 87
1. orad 3iffsmas Rfara el

2. T FH sncAfdeara & e @l

3. o Afe Tareey & gl

4. fogshr aRaie fufa 8=

Correct Answer :-

. oo F=fs T 8% 8l

34) F& # wAWT i T FE it Ao T ARF GEEh FH 1 TR F I -
1. 9% ek & T & 3TET 8

2. BTN & ARSI # TETS gl

3. %efl & fHHT 36T % g H 3w gl

4, 7% TrEa-RE= & sgaeh @fea &l

Correct Answer :-

+ 9% WrE-REE # I9eh A el

35) T # 6 YHR 1 9 Ued I F O SRR g@rn vd FEaER v i §2
1. dR (Celrarma)

2. eaciT O

3. ¥ 015 diee

4. USiipd ST

Correct Answer :-

36) THal H arerl HY Foaa A GFAT F T F [Aw -
1. 3 Fafr|

2. el fafest gea3 # gaer @ik

3. adl S gae @izl

4. %Il FHETA GaAlell AIRT

Correct Answer :-

o IWIEFd gt

37) wfFqarer i =T GG F Ag <o ¢ 1 @uUT 74T §?
L. SRR

2. HIeY-HIE

3. 3TelrdaT

4. FEIAT-HIG

Correct Answer :-

38) wfFaary i war N F A @ frw AN F Hir 7 2



1. g&Er
2. Sl
3. ATehIT

4. 3TcATTT

Correct Answer :-

39) @ ¥ areTd ¥ -
L& @ foran g3m e
2. 91 §3T W

3.4 o

4. oG & eI FHedal
Correct Answer :-

. g®

40) frE TIMHR F ‘GafAalg 1 AT TOF FgT ST 87
1. ITSATeTe] #TErT HfFersier

2. FERATT JFrarel

3. AR

4. FeTeT arEdr

Correct Answer :-

41) FT # F sl @ gy i Avar 7@ &2
1. STTFdcd & JHIRIA

2. B TEUAT

3. 3ifeafa &1 gaE

4. gfgreaar

Correct Answer :-

. Bog SEUdT

42) T & O FlT T ATHT FT AT AL §?
1.8

2. A S

3. §9 ool

4. HUTEE] 3R 3T HITST

Correct Answer :-

43) fwafaf@a 9Faal & T @1 oo &7
faf foifee gu fafex ¥ Rgema
wa fread gu Rem aww § @

T AfeTar wFa e § @A g
A gHRR dARgar aagR-tafa @)

1. 98d dIfoh B

2. BT Beq



3. gafaelfdd oea
4. FUSTIAT Begy

Correct Answer :-

44) farafaf@a dfFat & sla-ar seaR §72
A & e Reg &,

a1 77 wfew Rea ¢ g # 2

1. HTAATT 3R

2. dcdT 3R

3. S8 IR

4. 3ETEITT 3ol

Correct Answer :-

45) & Ffaar Iwew for Fad @R R 32
1. g&FTed e

2. afTaeee §Ree arcargsT 3T’

3. e

4. FgIedr gAT

Correct Answer :-
. Hgrdr gAT
46) FHATIR 99 & WUEH & @ I ark 9F A @t & ¥ sla-@ soafar a8 o 2
1. 359 3R IR F @y a1 @ §
2. TR AT 3R A F @ 7 39 FAR wehe R FHd E
3. ool HIAQTE FT Fh &
4. FARAFER At F AT FTEAdT Jer TwS

Correct Answer :-

o P PR T TH E

47)mam$aﬁwmaﬁmmmmmﬁfﬂﬁamwmmwaama;mﬁmaﬁqﬁwﬁrmsna:r
a;mﬁm’r#ﬁmarrmﬂr«rmwmmﬁmﬁﬁwﬁwmaﬂaﬁmm#mm#mmmﬂm
am| mn%’rl{vsaﬁﬁaahném mmmmﬁmmqsﬁmaWawﬁa%m@mmsﬁtmm#nm
A I AT A WE Y TAFT F TaAT R F1 AW gered F R °nl

I uRede &) yedr - 3T T vy o1 3w Rifd:

AR & FAF RFW F FROT Fl 7o ST q@A 30 7 A7
1. Yolrardy egaear

2. AIH=ARMET

3. d=nferer 3nfasaR

4. T9FaT AR FATAAT

Correct Answer :-

« FFAAAT 3R FARTAT

48)mam$aﬁwmaﬁmmmwmfﬂﬁmmwmmmlaamarmﬁmaﬁqﬁwﬁrmsnaa
ﬁwaﬁﬁﬁmmma,wmmmm$mmaﬁwﬁwmmm#mm#mmmm
oT| mnﬁl{vsaﬁﬁaahn?m mﬁmmﬁwmwﬁaﬁrma«ﬁa@mwmmaﬁtmﬁ#nm
A I AT A HE Y TAFT F TAT R F1 AW gered F R °nl



Iufw uRede Bl gga? Y T T uy @1 Sw fifdw:

MG & HAAR B FRT IAF el F T aRadw ame?
1. gafarg

2. FATSIROT

3. LA # 36T

4. 3w Hifa

Correct Answer :-

49)3mﬁﬁawh$3rﬁwma$mmwwrﬂmﬁ$fﬂﬁamwmmwm#mﬁﬁmﬁmmsﬁaﬂ
a»'mﬁaﬁr#ﬁmmmﬁmmmaﬁﬁméﬁmﬁmaﬁwﬁwmmmﬁr#mﬁ#mmmm
il mnﬁquaﬁﬂmﬁnéa“n mmmma}mwwnaﬁrmm:ﬁa%mzﬁmmaﬁtmﬁnm
IS I AT A1 WIE T TEAFT F T FiaT B A wered 2T )

Iufad uivede &1 Ugd - AT U uy &1 IR fafe:
AR F HTAR FFd FROMET R F1 arats Her?
1. AGSATIRYT & HiAF Ferg & FROT

2. YSMardY HawT & FHROT

3. HHAARTE & THA F S &F FRoT

4. Fqd7 fRide & HROT

Correct Answer :-

o AGSERUT & hiA$ [AhT & HROT

So)mwﬁ#mmwmmmmmfﬂﬁamwmmwm%aﬁﬁmaﬁrmmsﬁaﬂ
a»'mﬁm’r#ﬁmmmﬁmmmlaﬁﬁmﬂﬁmﬁﬁmﬁwﬁwmmmﬁr#mm#mmmm
aml mnﬁwaﬁ#asﬁnéaﬁl mmwmamwwnmﬁmywﬁa%mw%M}amaﬂtmm#nW
A I AT A HE T TAFT F T AT #1 A gered F 2T )

I TR=E B UgHR R AT 7Y uy @71 Ik frfaw:
A F FTAR FFd gea F FaaT Reder &1 A9 gaead Brar?

1. IdSITIROT

2. sgdiq

3. HIHARIE
4.1 T TSTehitar

Correct Answer :-
o W ST TSI

Sl)mawha:aﬁwmaﬁanﬁmmmmﬁﬁﬁﬁamwmmwaam%asﬁavﬁmaﬁqﬁwﬁrmsﬁa:r
a;mﬁm’rfrﬁmaﬂm%—ermwmmﬂ?amﬁmaﬁwﬁwmaﬂmmm#mm#mqﬂﬁamﬂm
1| mnﬁquaﬁﬁaaﬁn‘ém mﬁmmﬁmmwﬁaﬁmmﬁﬁmwmmsﬁtmﬁnm
A I AT A HE Y TAFT F TaAT Raw F1 A gered F R °nl

I uRwde &) yedr - 3T T vy o1 3wk Rifdw:
wqa aegier & fav sfaa ddew @ gwar 2

1. Golarer eFaEdr

2. U9 H SR

3. %1 T HIfd

4. e Fifa

Correct Answer :-

« WY F AR

52) qFH3 ACH Fel TEqd HAT AT FhaT 57

1. ACTITET H



2. ETRITe3 #

3. fordlY off TueT W

4. 7T

Correct Answer :-

o R off T W

53) frdt 21 a1 9AA & TAFTS AT WA A FH AT FT WA ghar § 3/ P 7 ¥ Pl @ omwr Fww §2
1. A aT

2.3;T‘TC|'31T“|T

3. @9 T

4. ST AT

Correct Answer :-

o XIST AT

54) FUAFT YEIG G@RT IR FFA FEreAr Y 9 FT AW 99T §?
1. 3TTRTRIETT

2. 3T

3. [WERR

4. IAMH

Correct Answer :-

o TTRRET

Correct Answer :-
« T |HA @
56) 'gfere @ F IHSAT §I', IH AFT H IRIGH AT ¢ -
LgTH & FIg T
23R
3. g
4. qeRgT

Correct Answer :-

57) -@mmwmmﬁw,mmmwm
1. TF @R | §AR|

2.3 IR § O AT A

3. 5l gehTel T gehale |

4.3¢ & g 7 S|

Correct Answer :-



58) 3ffreT 3R FaTOM @RI A - AT T FA W W AT ¥ 3T 7T AT 37 FA A aeg afFT FES F?
1. YT F&fOT ree; Aferet

2. 3Mtoft oaToT ereg AR

3. SRATSIeTacl of&TuT 2req QA

4. ST g Afed

Correct Answer :-

o ST A ATFT

59) HeIH FETT TS FT BF § IWH Fad Aheld A A T8 AF FI1 Ageaor 87
1. Af@s gl

2. fof@a e

3. HTST-99T &7 &THAT

4, SYTEUT T T SATeThRY

Correct Answer :-

o HINT-YAET 6T &TF7ar

1. QIR 3[0T
(5 9
2. 3T o1
3. 9IS A[OT
4, ALY I[OT

9 9

Correct Answer :-



